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x=3y4+ z-2w= 1
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X —y 4+ z 4+ 2w
—2x + 7y + 8w = -2

-2y =3z —-6w= 1
-3y —4z - %w= -1

a) 43x — 5y — 3z + 4w = -3 b)
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2x — 2y + 5z + w
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X +3y4+ z —2w=-2 x +3y +2z 4+ w= 1
2) 2x +7y — z — 6w= -3 b) 2x + 7y + 5z + 4dw= 2
x +2y+7z4+3w= -6 2x + 9y + 8z + 6w= 6
4x + 9y + 7z — 8w = a x +5y + 5z +3w=a
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1 1 2
5 =3
a) b) 1 2 1
-6 4
2 1 1
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X 4+ y 4+ 2z = 3
5x — 3y = 3
a) b) x + 2y + z = —4
—6x + 4y = 2
2x + y + z = 1
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1 -2 =2 1 1 1
4 =3
a) b) | —2 3 -3 )| x y =z
-7 > 2 2 2
3 =2 3 x* y* oz
-5 0 9 7 2 3 1 4 1 -3 1 1
2 0 -1 0 1 4 3 2 -1 2 1 2
d) e) f)
8§ 3 4 -6 32 4 1 -2 2 3 1
-4 0 7 0 4 1 2 3 -1 4 -1 -4
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1 -1 a
A= -1 a -1
a -1 1
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2 1 4 -7 3 -1
a) A= b) A= c) A= V3
1 -2 3 -5 1 V3
x-BICEAT BIRIBEZ [, RROOUD I0° Qi ¢ CT5EE, 6ABEIgo f & Bigy = x (CE
FTERNHBIHNELBD Ex2THIOBEROTRE.
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) TEENBBELHLOEOBE%E f &T5.

2) ALaﬁ,@@auzoU@émﬁnﬁeaﬁﬁw@éb\i tOOESER Y
AETHBD.

b) fICkoT, & (-1.1) REABSITESBD.

¢) A2 ERD&.

d) BHEBE fo fICk>TR(-1.1) BEABSITESD.

) BOEDESIC, Bx?+y? =2 CAETHE=A ABC H'd 5,
DA DEED (—1,1) DEE, HYOBEIOEEA RDE.
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